Polygons #2- Name

=2

SHOW FORMULAS AND SUBSTITUTIONS!!!

1. Find the sum of the measures of the
angles of a convex 25-gon.

\BO(n-2)= 180(22)
J140°

3. Find the sum of the measures of the
. exterior angles of a 45-gon.

260"

5. Find the measure of a central 'angle
of a regular 36-gon.
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2. Find the number of diagonals
of a 30 gon.

nNin-3)_ 30-2%
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4. Find the measure of one ji fior

angle of a regular 90-gon:
'BOn-20. 180-20 . 2 .gp
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6. The sum of the measures of a convex

polygon is 17,640°. Find the nhumber of sides
of the polygon. - -

1BO (n - 2) = I”euo
n-7 = 9@ |
n= P@ 100 SIn,

7. The sum of the measures of the interior angles of a convex polygon is ten times the sum of the
measures of its exterior angles, one at each vertex. Find the number of sides of the polygon.

let x=1g0(n-2)
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% = 10(®00)
1BON~-2) = 200

n-2= 2°©
N=z22
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8. What is the sum of the measures of the exterior angleé, one at each vertex, for a polygon if the
sum of the measures of the angles of the polygon is 2160°7?

20°

9. Sketch a pentagon such that:

a. Exactly four of its diagonals  b. Exactly three of its diagonals c. Exactly two of its diagonals

intersect its interior

intersect its interior

intersect its interior




- .

10, Two consecutive an'gles of a parallelogram are in the ratio 7:8. What is the measure of sach

angle? 5 3 F4+F 4+ 483 = R0 260 =12
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11. The 'gngles of a triangle are in the ratio 3:4:5. What is the me#sure of each angle?
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12.Two of the angles of a pentagon are equal. The third angle is 4 four times one of the equal .
angles. The fourth angie is 18 less than twice the equal angles. The fifth angle is thirty six more that
one of the equal angles. Find the measures of the five angles of the pentagon. :

X¥TX+2x -8 +Yy +x+H0 = BYO

Ux +18 =5y
Av =522 -~ E—
| x =58 [=8°58,232,98,
13. .The sum of the measures of the interior angles of a convex polygon is 45,000°. Find the number

of sides of the pol,y%o‘n;., 80 CV) __2_)_____ %,OC)O

Nn-2 = 250

Nn=292

| 22 91.965] |
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